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2H(600) At4el &h(670) Bl MEH(672) EISAMYZSY  F:(02) EISEIAMYZ (Thel - &)
. gaey |7 Bl o=y
o-g-MHF-F Of A 4
21 A 51,162,938 | 42,624,818| 8,538,120
600 Arg+ 22,376,338 | 14,460,289 7,916,049
670 Yl 16,665,438 | 8,749,389| 7,916,049
672 ERR|AMYa+A 8,741,981 8,691,981 50,000
02 ESgAMYUZ 5,906,459 5,901,459 5,000
O sZINIEESA LS 5,000
0 20193 A = SHAAI7 |3 H2tE7 27| ZAEREE0F 24 F
5,000,000 = 5,000
03 Lete[AxdF 2,825,522 2,790,522 35,000
O Lite|A ez 35,000
o JtBAstrEZH|7 |28 MEsE 89 2IIE
24 (155,000,000) - 7|4 (120,000,000) = 35,000
06 =ZnEzz2 10,000 0 10,000
O 2020 S3ote-e 23| HEjHE Zda 10,000,000 = 10,000
679 7|Et Y|4 7,873,457 7,408 | 7,866,049
09 7IetI el 7,871,049 5,000 | 7,866,049
0 7HE AMHSSSteH 2| A d SHAIY 22t w208 G 0|2} BhhoH
23 (7,866,049,048) - 7|14 (0) = 7,866,049
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100 A2dY 28,786,600 | 28,164,529 622,071
170 A2dAz+Y 28,785,600 | 28,163,529 622,071
173 ERIAHLEEZZSY 28,155,600 | 27,533,529 622,071
02 ERAHEEZEZsY 10,964,828 | 10,342,757 622,071
O stdA e IS (=N EEESA) dYa 21,335,732
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#3 (74,000,000) - 7|1 (52,200,000) = 21,800
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#3 (44,000,000) - 7|1F (29,520,000) = 14,480
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234 (123,000,000) - 7| (108,000,000) = 15,000
o (22|, A7 St 2| Stet2 FHIAY
Z% (51,000,000) - 7|A (45,000,000) = 6,000
o (S22 YH|)SH 224 (2EHA)
Z3d (13,000,000)-7|& (0) = 13,000
o (StrR2YH))SH, oM 40 =S a=2 1S
ZZ (15,000,000) - 7|& (0) = 15,000
o (G2 YH|)7HEE =44 &4 (13,000,000)-714 (0) = 13,000
O Lits|A = 1,957,803
0 (80Z OS5t H)EZH A5t Ad H2AY
84 (7,171,000) - 7|4 (0) = 7,171
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